
Informatika na ljetnom roku državne mature 2013./2014. 

Ključ za odgovore 
 

Broj 
zadatka 

Točan odgovor 

1 B 
2 B 
3 D 
4 B 
5 B 
6 A 
7 C 
8 D 
9 B 

10 C 
11 D 
12 B 
13 A 
14 C 
15 C 
16 D 
17 A 
18 C 
19 B 
20 A 
21 enter 
22 2,5 
23 11010,001 
24 8 
25 NE A 
26 3 
27 84 
28 172,5 
29 Istina 
30 5 
31 dva 
32 64 
33 38 



34 

0 
1 
0 
1 
0 
0 
1 
1 

35 

 

     ulaz(n); 

     s := n div 100; 

     d := n div 10 mod 10; 

     j := n mod 10; 

     ako je (s > d) I (s > j) onda 

           izlaz(s) 

     inače ako je d > j onda 

              izlaz(d) 

           inače  

              izlaz(j); 

 

36 

 

    s := 0; 

    k := 0; 

    dok je s <= 100 činiti 

    { 

        ulaz(m); 

        s := s + m; 

        k := k + 1; 

    } 

    izlaz(k); 

 

 


